
VERIFY IN FIELDV.I.F.

VERIFY BY ARCHITECTV.B.A.

VERTICALVERT. 

FRAME WIDTH

FRAME HEIGHT

UNLESS NOTED OTHERWISE

TYPICAL

SIMILAR

REQUIRED

REFERENCE

OPPOSITE HAND

OUTSIDE DIAMETER

ON CENTER

NOT TO SCALE

MINIMUM

MAXIMUM

INSIDE DIAMETER

HORIZONTAL

GYPSUM BOARD

DOOR OPENING

DAYLIGHT OPENING

DIAMETER

CONTINUOUS

CENTERLINE

ARCHITECT

APPROXIMATELY

ALUMINUM

F.W.

F.H.

U.N.O.

TYP.

SIM.

REQ'D

REF.

O.H.

O.D.

O.C.

N.T.S.

MIN.

MAX.

I.D.

HORIZ.

GYP. BD.

D.O.

D.L.O.

DIA.

CONT.

C.L. or 

ARCH.

APPROX.

ALUM.

ROUGH OPENINGR.O.

DOUBLE ACTING SINGLE

DOUBLE ACTING SINGLE

ACTIVE

DOUBLE ACTING PAIR

ACTIVE

PAIR
INSWING

INSWING (HRSI)
RIGHTHAND

ACTIVE

OUTSWING
PAIR

LEFTHAND
OUTSWING (HRSO)

INSWING (HLSI)
LEFTHAND

RIGHTHAND
OUTSWING (HLSO)

HATCH

ALUMINUM

BACKER ROD

BRICK

CAULKING

CONCRETE

CONCRETE BLOCK

DIMENSIONAL LUMBER

SYMBOLS

SEALANT AND BACKER ROD

FASTENER LOCATION

WORK POINT

S

BS

SEALANT (BY GLAZING SUB CONTRACTOR)

BRAKE METAL SPLICE

INFILL KEY

DOOR NUMBER
HDWR SET: 01

1 REVISION DELTA

ABBREVIATIONS

FLOOR PLAN KEY

DETAIL KEY

PALMETTO MARRIOTT
SHOP DRAWINGS

FINISHED WOOD

GROUT

PLYWOOD

SHIM PACK

STEEL

RIGID INSULATION

GENERAL NOTES

REF NO:
REF SHT:

ELEVATION TITLE0
0
A000

1
211

3
301

REF NO:
REF SHT:

DETAIL TITLE1
SCALE: -

-

GL-5

GL-5

...............................................................
................................................

.............................................................
.......................................................

..........................................................
...................................................................

.................................................
..........................................................
...........................................................
............................................................

..................................................
..........................................................

.........................................................
..................................................................

....................................................................
.........................................................

................................................................

...................................................

........................................................
...............................................................

...............................................................
.......................................................
......................................................................
.....................................................................

...................................
............................................

........................................................
...............................................................

1. SGS WILL ASSUME NO RESPONSIBILITY FOR ERRORS RESULTING FROM THE USE OF THESE
DRAWINGS BY OTHER TRADES

2. FINAL APPROVAL BY THE GENERAL CONTRACTOR CONSTITUTES ACCEPTANCE OF ALL DEVIATIONS
TO THE CONTRACT DOCUMENTS MADE BY SGS IN THESE DRAWINGS.

3. THESE DRAWINGS REPRESENT SGS'S INTERPRETATION FOR THE APPLICATION OF APPROVED
PRODUCTS TO THIS PROJECT IN FUNCTIONAL COMPLIANCE WITH THE ARCHITECT'S DRAWINGS,
SPECIFICATIONS, AND EXPRESSED DESIGN INTENT. GLAZING CONTRACTOR IS RESPONSIBLE FOR
REVIEWING THESE DRAWINGS FOR COMPLIANCE WITH DESIGN INTENT INCLUDING ALL DIMENSIONS,
FUNCTIONS, APPLICATIONS, INTERFACING CONDITIONS, MATERIALS AND JOBSITE CONDITIONS. BY
SUBMITTAL OF THESE DRAWINGS FOR APPROVAL, GLAZING CONTRACTOR REPRESENTS HE HAS
REVIEWED THESE DRAWINGS FOR COMPLIANCE WITH DESIGN INTENT AND DRAWINGS ARE IN
ACCORD WITH GLAZING CONTRACTORS UNDERSTANDING OF THE PROJECT REQUIREMENTS.

4. ALL DIMENSIONS SHALL BE FIELD VERIFIED AND/OR APPROVED BY THE GLAZING SUBCONTRACTOR
PRIOR TO ORDERING AND FABRICATION. SGS WILL ASSUME NO RESPONSIBILITY FOR DIMENSIONAL
ERRORS OR CHANGES RESULTING FROM FIELD CONDITIONS.

5. PRODUCT MATERIALS MUST BE PROTECTED IMMEDIATELY FROM STAINING BY WET CARDBOARD
PAPER AND FROM THE ACTION OF HARSH ALKALIS AND SAND IN CONCRETE, STUCCO, MORTAR OR
PLASTER. THE SETTING OF THE PROJECT MATERIALS REQUIRES GENERAL CONTRACTOR TO
CLOSELY SUPERVISE OTHER TRADES AS TO PREVENT MARRING OR DISCOLORATION FROM ANY
CAUSE.

6. ALL SEALANT JOINTS SHOULD BE SEALED WATERTIGHT FOLLOWING THE SEALANT
MANUFACTURERS RECOMMENDATIONS AS TO SIZE, METHOD OF APPLICATION AND COMPATIBILITY
WITH ADJOINING MATERIALS.

7. ALL FRAME SYSTEMS SHALL BE FABRICATED AND INSTALLED PER THE MANUFACTURERS
INSTRUCTIONS, SYSTEM PART NUMBERS MUST BE VERIFIED BY THE GLAZING SUBCONTRACTOR
PRIOR TO ORDERING MATERIAL. SGS WILL NOT BE HELD LIABLE FOR INACCURATE SYSTEM PART
NUMBERS.

8. ALL GLASS AND FINISHED MATERIAL MUST BE PROTECTED DURING WELDING OPERATIONS,
FIREPROOFING OR ANY OTHER PROCESS THAT MAY BE HARMFUL TO THE APPEARANCE OR
PERFORMANCE OF THE PROJECT MATERIALS.

9. THE ROUGH OPENINGS PROVIDED MUST BE SQUARE AND WITHIN SPECIFIED BUILDING
TOLERANCES.

10. PERIMETER SUBSTRATE MUST BE CAPABLE OF WITHSTANDING REACTION FORCES IMPOSED BY
DESIGN LOADS.

11. LAWS AND BUILDING AND SAFETY CODES GOVERNING THE DESIGN AND USE OF GLAZING
ENTRANCE, WINDOW AND CURTAIN WALL PRODUCTS VARY WIDELY. SGS DOES NOT CONTROL THE
SELECTION OF PRODUCT CONFIGURATIONS, OPERATING HARDWARE OR GLAZING MATERIALS AND
ASSUMES NO RESPONSIBILITY.

AT THE BRADENTON AREA
CONVENTION CENTER

600 US 41 AT 7TH AVENUE,
PALMETTO, FL 34221

ARCHITECT
SANDVICK ARCHITECTS

1265 WEST SIXTH STREET
CLEVELAND, OH 44113

ARCHITECT: JONATHAN SANDVICK
P: (216) 621-8055
F: (216) 687-1814

CONSTRUCTION MANAGER

SHEET INDEX
NO. DESCRIPTION NO. DESCRIPTION
001 COVER 414 DETAILS
101 ASSEMBLIES 415 DETAILS
102 ASSEMBLIES 416 DETAILS
103 ASSEMBLIES 417 DETAILS
201 REFERENCE PLAN 418 DETAILS
202 8TH LVL ROOF PLAN 419 DETAILS
203 PENTHOUSE ROOF PLAN 420 DETAILS
204 BALLROOM ROOF PLAN 421 DETAILS
205 CANOPY PLAN & ELEV 422 DETAILS
301 ELEVATIONS
302 ELEVATIONS
303 ENLARGED ELEVATIONS
304 ENLARGED ELEVATIONS
305 ENLARGED ELEVATIONS
306 ENLARGED ELEVATIONS
401 DETAILS
402 DETAILS
403 DETAILS
404 DETAILS
405 DETAILS
406 DETAILS
407 DETAILS
408 DETAILS
409 DETAILS
410 DETAILS
411 DETAILS
412 DETAILS
413 DETAILS

PRODUCTS USED
PRODUCT DESCRIPTION

PRODUCT WIDTH DEPTH

4MM ACM - ALPOLIC FR CORE
ROUTE & RETURN PANELS VARIES 2"
BERRIDGE 7.2" METAL DEEP

DECK PANELS 36"  1 1/2"

FINISH SCHEDULE
PRODUCT FINISH

PANEL SCHEDULE
PANEL CONTRACTOR TO VERIFY CORRECT ASSEMBLY MAKE UP AND

CORRECT LOCATIONS ON ALL ELEVATIONS PRIOR TO ORDERING

SYMBOL DESCRIPTION

4MM ACM - ALPOLIC FR CORE ROUTE &
RETURN PANELS

BERRIDGE 7.2" METAL DEEP DECK PANELS
INTERIOR MECH. SCREEN WALL PANELS

ACM-1

DOOR SWINGS

DESIGN CRITERIA
WINDLOADS

ALLOWABLE DEFLECTION (PER AAMA TIR A11)

NOTES:

MWP-1

POINT TYPE:
TYPE 1 TYPE 2 TYPE 3 TYPE 4 TYPE 5

#10 (.035-.090)
#12 (.035-.090)

#6 (.035-.098) #8 (.100-.140) #12 (.145-.312) #12 (.250-.500)

#18 (.035-.098)
1/4" (.035-.090)

#12 (.050-.140)
#10 (.090-.110)
#8 (.035-.100)

1/4" (.110-.250)
#12 (.090-.210)
#10 (.110-.175)

SELF DRILLING FASTENER TERMINOLOGY

#12-14 X 1-1/4" TYPE 3 HWH, SELF-DRILLING

EXAMPLE:
DIA.

THREADS
PER INCH

LENGTH

POINT

HEAD TYPE

FASTENER TYPE

DIAMETER
POINT

HEAD
TYPE

THREADS
PER INCH

LENGTH

1/4 (.250-.500)

CBRE | PROJECT MANAGEMENT
101 E. KENNEDY BLVD., SUITE 1500

TAMPA, FL 33602
CELL #: +1 (727) 648. 6393

ACM-2

ACM-1

MWP-1

ACM-2

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

COVER
SHEET

NONE

001

AutoCAD SHX Text
C

AutoCAD SHX Text
CMX METALLIC CHAMPAGNE STOCK

AutoCAD SHX Text
MCU CHAMPAGNE MICA

AutoCAD SHX Text
MCU CHAMPAGNE MICA



4MM ALPOLIC FR CORE ROUTE
& RETURN ALUMINUM

COMPOSITE METAL PANELS

ACM-1

FINISHED SIDE

A
A

SECTION "A-A"

1
2"

2 14 "

1
2"

2"

PANEL SIZE, SEE ELEVATION

11 8"

ALUMINUM COMPOSITE PANEL PROFILE:
MFR: ALPOLIC FR CORE ROUTE & RETURN ACM PANEL

MATERIAL THICKNESS: 5/32"
PANEL DEPTH: 2 TO 2 1/4"

COVERAGE: VARIES, SEE PLANS & ELEV.
COLOR: CMX METALLIC CHAMPAGNE STOCK

1 2"

21
4"

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM-1: ALPOLIC 4MM FR CORE ACM PANEL ASSEMBLY1
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

PANEL ATTACHED AT EDGES TO
MFR EXTRUDED ALUM. SUPPORT
FRAME FASTENED TO FRAMING

1/4" SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

REF NO:
REF SHT:

ACM-1: ALPOLIC 4MM FR CORE ACM PANEL ASSEMBLY - CROSS SECTION2
SCALE: FULLNA

-

4MM ALPOLIC FR CORE
ROUTE & RETURN

ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED
ALUM SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

WEATHER RESISTIVE BARRIER
(& INSULATION WHERE SHOWN,
SEE DETAILS)  BY OTHERS

5/8" SHEATHING  BY OTHERS

COLD FORMED MTL FRAMING /
STRUCT STEEL REFER TO
STRUCT. PLANS  BY OTHERS

PLAN VIEW
WALL/FASCIA
ASSEMBLIES

SHEET

1'-0" = 1'-0"

101

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

B
B

4MM ALPOLIC FR CORE ROUTE
& RETURN ALUMINUM

COMPOSITE METAL PANELS

ACM-1

FINISHED SIDE

1
2"

2"

PANEL SIZE, SEE ELEVATION

11 8"

ALUMINUM COMPOSITE SOFFIT PANEL PROFILE:
MFR: ALPOLIC FR CORE ROUTE & RETURN ACM PANEL

MATERIAL THICKNESS: 5/32"
PANEL DEPTH: 2 TO 2 1/4"

COVERAGE: VARIES, SEE PLANS & ELEV.
COLOR: CMX METALLIC CHAMPAGNE STOCK

35 8"
2"

1
2"

2 14 "

1
2"

21 4"
35 8"

2"

SECTION "B-B"

INSULATION & FRAMING
BY OTHERS

COLD FORMED METAL
FRAMING  BY OTHERS

COLD FORMED METAL
FRAMING  BY OTHERS

INSULATION & FRAMING
BY OTHERS

REF NO:
REF SHT:

ACM-1: ACM SOFFIT PANEL ASSEMBLY1
SCALE: FULLNA

-
REF NO:
REF SHT:

ACM-1: ACM SOFFIT PANEL ASSEMBLY - CROSS SECTION2
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW

(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

SOFFIT
ASSEMBLIES

SHEET

1'-0" = 1'-0"

102

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

SECTION "C-C"

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

4MM ALPOLIC FR CORE ROUTE
& RETURN ALUMINUM

COMPOSITE METAL PANELS

ACM-2

ALUMINUM COMPOSITE SOFFIT PANEL PROFILE:
MFR: ALPOLIC FR CORE ROUTE & RETURN ACM PANEL

MATERIAL THICKNESS: 5/32"
PANEL DEPTH: 2 TO 2 1/4"

COVERAGE: VARIES, SEE PLANS & ELEV.
COLOR: MCU CHAMPAGNE MICA

C
C

2" 6" 11
2"

1
2"

21 4"

VERT. STEEL HSS STRUCT.
POST PER STRUCT. PLANS
BY OTHERS

HORZ. STEEL HSS TRUCT.
BEAMS PER STRUCT. PLANS
BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

3 4"
6"

3 4"
11 2"

VERT. STEEL HSS TRUCT.
POST PER STRUCT. PLANS

BY OTHERS

HORZ. STEEL HSS STRUCT.
BEAMS PER STRUCT. PLANS

BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN

WALL BY OTHERS

REF NO:
REF SHT:

MWP-1: BERRIDGE 7.2 MECH. SCREEN PANEL ASSEMBLY1
SCALE: FULLNA

-

REF NO:
REF SHT:

MWP-1: BERRIDGE 7.2 MECH. SCREEN PANEL ASSEMBLY - CROSS SECTION2
SCALE: FULLNA

-

1/4-14x7/8" HWH DP1
SCREW (PER MFR.)

SAME PANEL AS ACM-1
EXCEPT COLOR

1" TAPE SEALER
CONTINUOUS

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN
WALL PANELS (MWP-1)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL VERTICAL PANELS  (ACM-2)

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN
WALL PANELS (MWP-1)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL VERTICAL PANELS  (ACM-2)

1/4" SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

#12-24 HWH WD SCREW (@ EA.
LOW INTO PLYWD SHEATHING)

#12-24 HWH WD SCREW (@ EA.
LOW INTO PLYWD SHEATHING)

MCU CHAMPAGNE MICA

7.2" 1.94"

1.94"

11 2"

3'-0"
COVERAGE

FINISHED SIDE

APLLICATION DIRECTION PREVAILING WIND

1" TAPE SEALER
CONTINUOUS

BERRIDGE 7.2  MECH.
SCREEN WALL PANELS

MWP-1

HORIZONTAL MECH. SCREEN WALL PANEL PROFILE:
TYPE: BERRIDGE 7.2  EXPOSED FASTENER PANEL

GAUGE: 24GA STEEL
DEPTH: 11

2"
LENGTHS: VARIES, SEE ELEVATIONS

COVERAGE: 36"
COLOR: MCU CHAMPAGNE MICA

1" 42°

1.34"

SCREENWALL
ASSEMBLY

SHEET

1'-0" = 1'-0"

103

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



N
OVERALL REFERENCE ROOF-SITE  PLAN
SCALE: 1/16" = 1'-0"                                          REF: 1/A1.9

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

UP

UP

UP

4 4

3 3

2 2

1 1

A

A

B

B

C

C

D

D

E

E

F

F

G

G

H

H

J

J K M BF

BG

BG

BH

BH

BL

BL

B2

6 6

7

8

B1

L

B5

B3

BD.9

BK

BK

BD

BA BB BD BF.2 BJ

B4

B6

BC

BE

BE BE.9

CA CB CC CD CE CF CG CH

B5.2

A.6

A.6

0

4.5 4.5

BK.1

BK.1

A1.8
3

A1.8
2

A1.8
1

A1.10
1

A1.10
2

A1.10
4

A1.10
4

1

204

1
202

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA & SOFFIT PANELS
SURROUNDING ROOF, TYP.

BALLROOM

MECHANICAL SCREEN
WALL W/ (ACM-1) ALPOLIC
FR CORE PANELS
OUTSIDE & BERRIDGE 7.2
PANELS ON INSIDE, TYP.

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS
SURROUNDING ROOF, TYP.

1

205

TOWER TOWER
PENTHOUSE

AREA

PORTE COCHERE

ENTRY
CANOPY

203
1

PH LVL 8TH LVL

1

301

2

301

1

302

1

302

2

302

2

302

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

REFERENCE
PLAN VIEW

1/16" = 1'-0"

201



4

3

2

1

G H J K MJ.5 K.4 L L.1

2.9

3.9

1.1

F.5 G.5 H.5

LITY

-2

816
KING

TYPE K-1

818
KING

TYPE K-1M

813
Q/Q

TYPE Q-1

815
Q/Q

TYPE Q-44M

819
KING

TYPE K-1M

817
KING

TPYE K-1

814
Q/Q

TYPE Q-1M

ROOFTOP PATIO

811
KING

TYPE K-1M

ST2-8
STAIR 2

26'-3 5/8" . 12'-9 5/8" . 12'-9 5/8" . 12'-9 5/8" .

. 12'-9 5/8" . 12'-9 5/8" . 12'-9 5/8" . 12'-9 5/8" .

805
WOMEN

801A
KITCHEN

801

ROOFTOP
LOUNGE

819
20

7'-1"

26
'-8

"

RAMP UP 7" (SLOPE <1:12)

A5.1.2
E-2

A7.2A
4

R 1

800C
HALL

A0.2
1

.2

A0.2
3

5
A4.7

A0.2.1
5

A0.2.1
7

6
A4.7

7
A4.7

6A
A4.7

8
A4.7

3
A4.4

4
A4.4

9'
-6

 3
/4

"
37

'-4
 1

/2
"

5'
-2

 1
/4

"
3'

-4
"

12'-1"

28

5
A4.4B

K.5

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

N
ENLARGED 8TH FLOOR PLAN - B
SCALE: 3/16" = 1'-0"                                          REF: 1/A1.8

4

306

(ACM-1) ALPOLIC FR CORE
PANELS PANELS & COPING
ON INSIDE/BACKSIDE OF
PARAPET WALL, TYP.

1
418

1
417

2'
-7

1 2"
VI

F

22'-0" VIF

1

416

55'-43
4" VIF

9'
-6

3 4"
VI

F
3'

-7
1 2"

37
'-4

1 2"
VI

F
3'

-7
1 2"

6'
-2

1 2"
VI

F

14'-115
8"

VIF

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS
SURROUNDING BALCONY
WALL BEYOND UNDER CW
SYSTEM SILL, TYP.

1
421

1
421

1
421

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS

SURROUNDING BALCONY
WALL BEYOND UNDER CW

SYSTEM SILL, TYP.

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

LEVEL 8
ROOF BALCONY

REF. PLAN

3/16" = 1'-0"

202



4

3

2

1

J J.5 K K.4 L M

1.1

H.5

PH01
PENTHOUSE

ST2-PH
STAIR 2

1
A4.7

4
A4.7

3
A4.7

2
A4.7

3 5/8"

6
A4.7

7
A4.7

4'
-0

"

8
A4.7

3
A4.4

4
A4.4

5
A4.7

0

4
A4.8

RETURN NICHIHA
PANELS 4'-0" AT
NORTH WALL

K.5 L.1

PREFAB ALUM ROOF
LADDER WITH LANDING

-ATTACH TO ROOF

RETURN NICHIHA
PANELS 4'-0" AT

NORTH WALL

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

N
ENLARGED PENTHOUSE FLOOR PLAN
SCALE: 3/16" = 1'-0"                                          REF: 3/A1.8

2

305

3

305

1

305

1

306

2

306

3

306

MECHANICAL SCREEN WALL
OUTSIDE: (ACM-1) ALPOLIC FR CORE PANELS
INSIDE: BERRIDGE 7.2 PANELS, TYP.

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS
SURROUNDING BALCONY
& COPING, TYP.

1
413

1
415

1

410

1

409

1

413

1

409

1
415

1

410

SIGNAGE, PROVIDED &
INSTALLED BY OTHERS

1
411

1
408

1
408

1
411

1
411

1
408

293 SF

ACM-1

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

TOWER
PENTHOUSE
REF. PLAN

3/16" = 1'-0"

203



3

2

1

BF BG BH

B5

BE BK1
A4.3

2
A4.2

3
A4.2

1
A4.2

3
A4.5

1
A4.5

4
A4.5

BK.1

2
A4.5

GUTTER WITH
DOWNSPOUTS

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

N
ENLARGED BALLROOM - RCP
SCALE: 3/16" = 1'-0"                                          REF: 4/A1.10, 1/A1.9C SIM.

80
'-4

9 16
"

O
VE

R
AL

L 
VI

F

1

303

2

303

1

304

2

304

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA & SOFFIT
PANELS SURROUNDING
ROOF, TYP.

3'
-0

"

4'-9 7
16"

EQ.
12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 4'-9 7

16"
EQ.

129'-67
8"

OVERALL, VIF

12'-0"12'-0"

3'-0"

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA & SOFFIT
PANELS SURROUNDING
ROOF, TYP.

3'
-0

"

4'-9 7
16"

EQ.
12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 4'-9 7

16"
EQ.

129'-67
8"

OVERALL, VIF
12'-0"12'-0"

3'-0"
4'

-2
1 4"

EQ
.

12
'-0

"
12

'-0
"

12
'-0

"
12

'-0
"

12
'-0

"
12

'-0
"

4'
-2

1 4"
EQ

.

80
'-4

9 16
"

O
VE

R
AL

L 
VI

F

4'
-2

1 4"
EQ

.
12

'-0
"

12
'-0

"
12

'-0
"

12
'-0

"
12

'-0
"

12
'-0

"
4'

-2
1 4"

EQ
.

1
402

1
402

1,221 SF

ACM-1

ACM-1

1
402

1
402

ACM-1

ACM-1

1
403

1
403

1
403

1
403

1
404

1
406

1
406

1
406

1
406

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

BALLROOM
REFLECTED

CEILING PLAN

3/16" = 1'-0"

204



4

3

BL

6

3.1

A

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

1'
-9

"

4'-111
2"

3'-21
2" 1'-9"

15
'-9

"
1'

-9
"

19
'-3

"

4'-111
2"

3'-21
2" 1'-9"

PLAN

19
'-1

1 16
"

SOFFIT

4'-101
2"

4'-61
2" 4"

4"
18

'-5
1 16

"
4"

4

3

BL

3.1

4'-101
2"

4'-61
2" 4"

19'-3"

4"
1'

-6
"

1'
-1

0"

9'-11
4" 9'-113

4"

19'-1"

1"
TYP.

ENTRY CANOPY FASCIA
ACM CLAD (ACM-1)

ALIGN VERT. JOINT W/ CL
OF WINDOW MULLION, VIF

4'-101
2"

4'-111
2"

4"
1'

-6
"

1'
-1

0"

1"
TYP.

4'-101
2"

4'-111
2"

4"
1'

-6
"

1'
-1

0"

1

205

2

205

3

205

ELEVATION 1 ELEVATION 3

ELEVATION 2

4" 4"

ENTRY CANOPY COPING
ACM CLAD (ACM-1)

9'
-1

1 4"

9'
-2

1 4"

1

205

2

205

3

2051
419

1
419

1
419

1
420

1
420

1
420

45 SF

ACM-1

35 SF

ACM-1

9 SF

ACM-1

9 SF

ACM-1

1
419

2
420SIM.

2
414

2
420

1
415

1"
TYP.

2
420

1
415

REF NO:
REF SHT:

ENLARGED CANOPY ELEVATIONS - ACM FASCIASEL
SCALE: 3/8" = 1'-0"2

A3.2

N
ENLARGED CANOPY PLAN - SOUTH
SCALE: 3/8" = 1'-0"                                          REF: 1/A1.9

SIM.SIM.

1'-9"

1
420

1
419

1
420

1
419

1
420

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

ENTRY
CANOPY

PLAN & ELEVS.

3/8" = 1'-0"

205



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

REF NO:
REF SHT:

OVERALL ELEVATION TOWER - WEST1
SCALE: 1/16" = 1'-0"3

A3.1

2nd Floor
17'-6"

3rd Floor
27'-6"

4th Floor
37'-6"

5th Floor
47'-6"

6th Floor
57'-6"

7th Floor
67'-6"

8th Floor
78'-0"

Tower Roof BO Deck (LP)
89'-8 1/2"

A A.5 B C D E F G H J K M

T.O.TOWER blocking
106'-1"

T.O. GR TOWER Blocking
91'-8"

T.O. N. TOWER Blocking
94'-4"

1
A4.1

J.5 L

2
A4.4

B.5 C.5 D.5 E.5 F.5 G.5 H.5 K.5
68'-9 1/4"

A

B B B B
A

A

I

F F F

I I I

C

2

2

2

2

2

1 1 1 1 2

1 1

1 1

1 1

1 1

1 1 2

1 1

1 1 1 1

1 1

1 1

1 1

1 1

1 1 3 2

1 1 1 1

1 1 1 1

1 1

1 1

1 1

1 1

1 1 3

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

3 2

3 2

1

1

1

1

1

1

1

1 1 1

1

1

1

1

1

1

1 1 1 1

1

1

1

1

3

3

3

3

3

3

28

F

79'-10 1/2"
T.O. EIFS Panel

78'-6"
T.O. Ribbed Panel

R R R R R R R R

M
AT

C
H

LI
N

E 
B-

C

PH Floor
95'-0"

F

J J J J

I

8th Floor Lounge
78'-7"

T.O. EIFS Panel
82'-5"

B.O. Soffit
90'-7"

T.O. Canopy Blkg
95'-4"

T.O. Sign Wall
103'-10 1/2"

T.O. Storefront 1
12'-6"

B.O. Sunshade
9'-0"

T.O. SunshadeB.O. PC Soffit 14'-6"14'-0"

T.O. PC Trim
16'-0" 19'-6"

20'-6"

17'-6"

27'-6"

25'-10"

80'-7"

Tower Roof BO Deck (HP)
90'-4"

12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 11'-3 1/8"
C.J.

2

3

3

3 2

3 2

3 2

3 2

3 2

3 2

3 2

2

3 2

3 2

3 2

3 2

3 2

3 2

3 2

E E E

E

1'
-5

"
10

'-7
"

3

B.O. Ceiling
86'-0"

2'
-0

"
2'

-0
"

1
A4.4

3
A4.4

4
A4.4

2'
-0

"
2'

-0
"

2'
-0

"

2
A4.6

1
A4.6

6A
A4.6

0
A4.4

7
A4.7

M M M

C
C

M

C

8
A4.4B

8'
-0

"

6'
-0

"

7'-8" 27'-8"

13

2nd Floor
17'-6"

3rd Floor
27'-6"

4th Floor
37'-6"

5th Floor
47'-6"

6th Floor
57'-6"

7th Floor
67'-6"

8th Floor
78'-0"

4

4 3 2 1

B2

8 7 6

T.O.TOWER blocking
106'-1"

2
A4.1

B5 B4 B3 B1

2.9

B6 B5.2

5

R

B12

3.1

3.1

Typ.
12'-0"

30'-0"

8th Floor Lounge
78'-7"

T.O. EIFS Panel
82'-5"

B.O. Soffit
90'-7"

T.O. Canopy Blkg
95'-4"

T.O. Sign Wall
103'-10 1/2"

B.O. Sunshade
9'-0"

T.O. SunshadeB.O. PC Soffit 14'-6"14'-0"

T.O. PC Trim
19'-6" 17'-6"

T.O. SW Tower Trim +/-
22'-4"

5

5

5

5

7'-6"

2
A4.5B15

REF NO:
REF SHT:

OVERALL ELEVATION - SOUTH2
SCALE: 1/16" = 1'-0"1

A3.4

1

305

2

305

5

306

1
303

2
303

1

205

4
306

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

OVERALL
ELEVATIONS

1/16" = 1'-0"

301



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

2nd Floor
17'-6"

3rd Floor
27'-6"

4th Floor
37'-6"

5th Floor
47'-6"

6th Floor
57'-6"

7th Floor
67'-6"

8th Floor
78'-0"

M K J H G F E D C B A.5 A

T.O.TOWER blocking
106'-1"

T.O. GR TOWER Blocking
91'-8"

T.O. N. TOWER Blocking
94'-4"

L K.5 J.5 H.5 G.5 F.5 E.5 D.5 C.5 B.5

1 1 1 1

1

1

1

1

1

1

1

1

1

1

1

1

1

1 1

1 1

1 1

1 1

1 1

1 1 1 1 1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1 1 1

1

1

1

1

1

1 1 1 1 1 1 1 1 1 1
1

1 1 1

2 2

2

2

2

2

2

2

2

M
AT

C
H

LI
N

E 
B-

C

PH Floor
95'-0"

A.6

8th Floor Lounge
78'-7"

T.O. EIFS Panel
82'-5"

B.O. Soffit
90'-7"

T.O. Canopy Blkg
95'-4"

T.O. Sign Wall
103'-10 1/2"

T.O. Storefront 1
12'-6"

3 2

3 2

3 2

3 2

3 2

3 2

3 2

3 2

3 2

3 2

3

3 2

3 2

3 2

3 2

3

3 2

3 2

3 2

3 2

B.O. Ceiling
86'-0"

PROPOSED 1ST
FLOOR PLAN

0' -0"

PROPOSED 2ND
FLOOR PLAN

10' -0"

Level 04 -T.O. Fnd.
Wall

-1' -0"

Roof
20' -0"

BB AA

6'
-0

"

8'-0"

REF NO:
REF SHT:

OVERALL ELEVATION TOWER - EAST1
SCALE: 1/16" = 1'-0"3

A3.2

REF NO:
REF SHT:

OVERALL ELEVATION - NORTH2
SCALE: 1/16" = 1'-0"2

A3.3

3

305

6

306

2nd Floor
17'-6"

3rd Floor
27'-6"

4th Floor
37'-6"

5th Floor
47'-6"

6th Floor
57'-6"

7th Floor
67'-6"

8th Floor
78'-0"

1 2 3 4

B2

7 8

T.O. GR TOWER Blocking
91'-8"

T.O. N. TOWER Blocking
94'-4"

B1

B5

B3 B4

5

15 1 21 1
14

15
DECORATIVE PANELS

B12

0

1 1

4.5

B.O. PC Soffit
14'-0"

T.O. PC Trim
19'-6"

T.O. PANEL
79'-10 1/2"

78'-8"
T.O. PANEL

15'-0" 16'-0"

20'-6"

5

5

5

5

5

5

23'-6"

8'
-0

"

4'
-0

"

10'-4"

1

304

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

OVERALL
ELEVATIONS

1/16" = 1'-0"

302



4

B5B6 B5.2

3.1

B.O. Sunshade
9'-0"

T.O. Sunshade
14'-6"

17'-6"

5

BF BG BH BLBE CE CF CG CH BK

4 4 4 4

23'-11"

BK.1

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

REF NO:
REF SHT:

WEST ELEVATION - BALLROOM1
SCALE: 3/16" = 1'-0"4

A3.1

REF NO:
REF SHT:

SOUTH ELEVATION - BALLROOM2
SCALE: 3/16" = 1'-0"2

A3.2

22'-4"
T.O. S.W. TOWER TRIM +/-

27'-0"
T.O. BALLROOM TRIM (HP)

1
205

3'
-0

"

4'-9 7
16"

EQ.
12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 4'-9 7

16"
EQ.

129'-67
8"

OVERALL, VIF

SIM. REF: 2/A4.3

1

205

3'
-0

"

4'-0 3
16"

EQ.
12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 4'-0 3

16"
EQ.

80'-03
8"

OVERALL VIF

1.
21

°

91.20°

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA & SOFFIT
PANELS SURROUNDING
ROOF, TYP.
GUTTER & DOWNSPOUTS
BY OTHERS TYP.

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA & SOFFIT
PANELS SURROUNDING
ROOF, TYP.

389 SF

ACM-1

241 SF

ACM-1

2
406

2
406

1
405

1
405

1
405 1

405

1
402

1
401

1
402

1
401

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

BALLROOM
FASCIA ACM
ELEVATIONS

3/16" = 1'-0"

303



4

B5 B6B5.2

3.1

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

REF NO:
REF SHT:

NORTH ELEVATION - BALLROOM2
SCALE: 3/16" = 1'-0"2 SIM. 

A3.2

BL BK BJ BH BG BF.2 BF BD.9BK.1

REF NO:
REF SHT:

EAST ELEVATION - BALLROOM1
SCALE: 3/16" = 1'-0"2

A3.2

3'
-0

"

4'-9 7
16"

EQ.
12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 4'-9 7

16"
EQ.

129'-67
8"

OVERALL, VIF

B.O. CANOPY
14'-0"

T.O. CANOPY
15'-10"

T.O. ROOF EDGE
18'-2"

1

205

3'
-0

"

4'-0 3
16"

EQ.
12'-0"12'-0"12'-0"12'-0"12'-0"12'-0"4'-0 3

16"
EQ.

80'-03
8"

OVERALL VIF

1.21°

91
.20

°

389 SF

ACM-1

241 SF

ACM-1

1
402

1
404

2
406

2
406

1
405

1
405

1
405

1
405

1
402

1
401

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

BALLROOM
FASCIA ACM
ELEVATIONS

3/16" = 1'-0"

304



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

REF NO:
REF SHT:

ENLARGED MECH SCREEEN WALL & ACM FASCIA ELEVATION - WEST1
SCALE: 1/4" = 1'-0"3

A3.1

12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 11'-3 1/8"
C.J.

8'
-0

"

6'
-0

"

REF NO:
REF SHT:

ENLARGED MECH SCREEEN WALL & ACM FASCIA ELEVATION - SOUTH2
SCALE: 1/4" = 1'-0"1

A3.4

REF NO:
REF SHT:

ENLARGED MECH SCREEEN WALL & ACM FASCIA ELEVATION - EAST3
SCALE: 1/4" = 1'-0"3

A3.2

6'
-0

"

4'
-5

"
4"

4'
-9

"
12'-0" 12'-0" 12'-0" 12'-0" 12'-0" 11'-31

8"

71'-31
8"

OVERALL VIF

1
411

1
412

2
414 340 SF

ACM-11
415

1
413

58'-8"
OVERALL  VIF

2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6"

1'-21
2"

8'
-0

"

8'
-0

"

61 2"

1
407

1
408

2
410

1
410 1

409
470 SF

ACM-2

CONTROL JOINT,
COORD. REQ. W/ G.C.

PNL JT

PNL JT

SIGNAGE, PROVIDED &
INSTALLED BY OTHERS

4'
-5

"
4"

4'
-9

"

11'-21
2"

EQ.
12'-0" 12'-0" 12'-0" 12'-0" 11'-21

2"
EQ.

70'-5"
OVERALL VIF

1
411

1
412

2
414 311 SF

ACM-11
413

1
413

8'
-0

"

1
404

1
408

2
410

1
409

1
409494 SF

ACM-2

PNL JT

61'-81
4"

OVERALL  VIF
2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 1'-81

4"

1
407

PNL JT

SIGNAGE, PROVIDED &
INSTALLED BY OTHERS

2'-6"

MECHANICAL SCREEN WALL
OUTSIDE: (ACM-1) ALPOLIC
FR CORE PANELS
INSIDE: BERRIDGE 7.2
PANELS, TYP.

MECHANICAL SCREEN WALL
OUTSIDE: (ACM-1) ALPOLIC
FR CORE PANELS
INSIDE: BERRIDGE 7.2
PANELS, TYP.

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS
SURROUNDING BALCONY &
COPING, TYP.

MECHANICAL SCREEN WALL
OUTSIDE: (ACM-1) ALPOLIC

FR CORE PANELS
INSIDE: BERRIDGE 7.2

PANELS, TYP.

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS

SURROUNDING BALCONY &
COPING, TYP.

(ACM-1) ALPOLIC FR CORE
PANELS FASCIA PANELS
SURROUNDING BALCONY &
COPING, TYP.

148 SF

ACM-1

146 SF

ACM-2

18'-23
4"

OVERALL  VIF
83
4"

2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6" 2'-6"

4'
-5

"
4"

4'
-9

"

9'-6"
EQ.

12'-0"

31'-0"
OVERALL VIF

1
413

PNL JT 9'-6"
EQ.

1
411

1
412

2
414

1
415

8'
-0

"

61 2"

8'
-0

"

61 2"

1
4108'

-0
"

1
407

1
408

2
410

1
409

PNL JT

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

MECH SCREEN
WALL

ELEVATIONS

1/4" = 1'-0"

305



80'-7"

13

NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

NOTE:
VERIFY ALL
DIMENSIONS IN FIELD
PRIOR TO FABRICATION
& ORDERING, TYP.

58'-0"
OVERALL  VIF

8'
-0

"

8'
-0

"1
410

464 SF

MWP-1

1
407

1
408

2
410

REF NO:
REF SHT:

ENLARGED MECH SCREEEN WALL INTERIOR ELEVATION - EAST1
SCALE: 1/4" = 1'-0"3 SIM.

A3.1 REF NO:
REF SHT:

ENLARGED MECH SCREEEN WALL INTERIOR ELEVATION - NORTH2
SCALE: 1/4" = 1'-0"1 SIM.

A3.4

REF NO:
REF SHT:

ENLARGED MECH SCREEEN WALL INTERIOR ELEVATION - WEST3
SCALE: 1/4" = 1'-0"3 SIM.

A3.2

60'-4 3
16"

OVERALL  VIF

8'
-0

"

8'
-0

"1
409

1
409

483 SF

MWP-1

1
407

1
408

2
410

17'-63
4"

OVERALL  VIF

8'
-0

"

1
410

141 SF

MWP-1

1
407

1
408

8'
-0

"1
409

1
409

REF NO:
REF SHT:

ENLARGED ACM INTERIOR ELEVATION - WEST4
SCALE: 1/4" = 1'-0"3 SIM.

A3.1

REF NO:
REF SHT:

ENLARGED ACM INTERIOR ELEVATION - NORTH5
SCALE: 1/4" = 1'-0"1 SIM. 

A3.4

REF NO:
REF SHT:

ENLARGED ACM INTERIOR ELEVATION - EAST6
SCALE: 1/4" = 1'-0"3 SIM. 

A3.2

6"

1
416

1
417

1
417

(ACM-1) ALPOLIC FR CORE
PANEL COPING CAPBACKSIDE OF PARAPET ELEVATION (ACM-1)

4" 10'-8" 10'-8" 4"

4"
9"

1 2"

1'
-1

1 2"

22'-0" OVERALL, VIF

1'
-1

0"

55'-43
4"

VIF

1
405SIM.

1
415

1
421

1
422

(ACM-1) ALPOLIC FR CORE
PANELS UNDER CW SILL @

BACK WALL BEYOND

6'-07
8" 6'-9" 6'-9" 6'-9" 6'-9" 6'-9" 6'-9" 8'-97

8"

ALIGN PANEL JOINTS W/
CENTERLINE OF

MULLIONS, VIF, TYP.

SIM.
1

406

1'
-1

0"

9'-91
4" VIF 3'-21

2" 37'-91
2" VIF 3'-21

2"

60'-21
2" VIF

6'-3" 3'-61
4" 6'-111

8" 6'-10" 6'-10" 6'-10" 6'-10" 3'-63
8"

6'-23
4" VIF

AL
IG

N

(ACM-1) ALPOLIC FR CORE
PANELS UNDER CW SILL @

BACK WALL BEYOND

ALIGN PANEL JOINTS W/
CENTERLINE OF

MULLIONS, VIF, TYP.

1'
-1

0"

14'-83
8" VIF

1'-91
2" 6'-47

8" 6'-6"

(ACM-1) ALPOLIC FR CORE
PANELS UNDER CW SILL @

BACK WALL BEYOND

ALIGN PANEL JOINTS W/
CENTERLINE OF

MULLIONS, VIF, TYP.

102 SF

ACM-1

18 SF

ACM-1

70 SF

ACM-1

12 SF

ACM-1

27 SF

ACM-1

1
405SIM.

1
415

1
421

1
422

SIM.
1

415
1

405

1
405

1
421

1
422

SIM.
1

415

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

MECH SCREEN
WALL

ELEVATIONS

1/4" = 1'-0"

306



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA TO COPING DETAIL @ BALLROOM OVERHANG1
SCALE: FULL1,2,&3

A4.5

1 2"

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

COPING / GRAVEL STOP
FLASHING W/ SEALANT

BY OTHERS

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ROOFERS SEAL MATERIALS,
WRAP MEMBRANE OVER
PARAPET BY OTHERS

6"

INSULATION & WRB
BY OTHERS

FRAMING 16" O.C. MAX
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

11 2"

T.O. ROOF

GRID

2'
-1

0"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

4"
VERIFY

2"

DETAILS
SHEET

1'-0" = 1'-0"

401

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA TO SOFFIT DETAIL @ BALLROOM OVERHANG1
SCALE: FULL1,2,3,&4

A4.5

WEEP HOLE BAFFLES

GRID

2'-10" TO EDGE OF PANEL, VIF

2'
-1

0"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

INSULATION & FRAMING
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

6"
(4" MIN.)

1
2" 2'-3 1/2" TO EDGE OF PANEL, VIF

4"
V

E
R

IF
Y

2"

4"
VERIFY

2"

INSULATION & WRB
BY OTHERS

FRAMING 16" O.C. MAX
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

DETAILS
SHEET

1'-0" = 1'-0"

402

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM SOFFIT TO WALL DETAIL @ BALLROOM OVERHANG1
SCALE: FULL1,2,3,&4

A4.5

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

COUNTERSUNK
SCREW (PER MFR.)

BACKER ROD &
SEALANT AS REQ'D

INSULATION & WRB
BY OTHERS

#12-14 HH SD SCREW
(SPACED PER MFR.)

1
2"

4"
V

E
R

IF
Y

2"

FRAMING 16" O.C. MAX
BY OTHERS

NOTE:
NO SPLICE JOINT SPLINE
REQ'D WHERE THERE IS
CAULK AT ADJACENT
MATERIAL, TYP.

EXTERIOR WALL PANEL
SYSTEM BY OTHERS

2'-3 1/2" TO PANEL JT, VIF
2'-10" TO EDGE OF PANEL, VIF

21
4"

DETAILS
SHEET

1'-0" = 1'-0"

403

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA TO GUTTER DETAIL @ BALLROOM OVERHANG1
SCALE: FULL4

A4.5
1 2"

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

COPING / GRAVEL STOP
FLASHING W/ SEALANT
BY OTHERS

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ROOFERS SEAL MATERIALS,
WRAP MEMBRANE OVER

PARAPET BY OTHERS

INSULATION & WRB
BY OTHERS

FRAMING 16" O.C. MAX
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

11 2"

T.O. ROOF

2'
-1

0"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

4"
VERIFY

2"

SHEET METAL
GUTTER BY OTHERS

SHEET METAL
DOWNSPOUTS BY
OTHERS

CLOSURE EAVE FLASHING
BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

404

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA OUTSIDE CORNER DETAIL @ BALLROOM OVERHANG1
SCALE: FULLNA

-

1
2"

1 2"

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED
ALUM SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

OUTSIDE CORNER - 4MM ALPOLIC
FR CORE ROUTE & RETURN
ALUMINUM COMPOSITE METAL
PANELS  (ACM-1)

INSULATION & FRAMING
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

COLD FORMED METAL
FRAMING  BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

405

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

COLD FORMED METAL
FRAMING  BY OTHERS

INSULATION & FRAMING
BY OTHERS

REF NO:
REF SHT:

ACM SOFFIT PANEL JOINT DETAIL @ BALLROOM1
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

INSULATION & FRAMING
BY OTHERS

REF NO:
REF SHT:

VERT. ACM FASCIA PANEL JOINT DETAIL @ BALLROOM2
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW

(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

COLD FORMED METAL
FRAMING  BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

406

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

VERT. STEEL HSS TRUCT.
POST PER STRUCT. PLANS
BY OTHERS

INTERMEDIATE HORZ. STEEL
HSS STRUCT. BEAMS PER
STRUCT. PLANS BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

REF NO:
REF SHT:

MECH. SCREEN WALL @ HORZ. INTERMEDIATE SUPPORT2
SCALE: FULLNA

-

VERT. 24 GA.
BERRIDGE 7.2 MECH.
SCREEN WALL
PANELS (MWP-1)

4MM ALPOLIC FR CORE
ROUTE & RETURN ALUMINUM
COMPOSITE METAL VERT.
PANELS  (ACM-2)

#12-24 HWH WD SCREW
(@ EA. LOW INTO
PLYWD SHEATHING)

VERT. STEEL HSS TRUCT.
POST PER STRUCT. PLANS
BY OTHERS

TOP  HORZ. STEEL HSS
STRUCT. BEAMS PER
STRUCT. PLANS BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

REF NO:
REF SHT:

MECH. SCREEN WALL @ COPING CAP DETAIL1
SCALE: FULLNA

-

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN
WALL PANELS (MWP-1)

4MM ALPOLIC FR CORE
ROUTE & RETURN
ALUMINUM COMPOSITE
METAL VERTICAL PANELS
(ACM-2)

#12-24 HWH WD SCREW
(@ EA. LOW INTO
PLYWD SHEATHING)

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

PERIMETER
EXTRUDED ALUM
SUPPORT FRAME

1'
-2

"

4"

1111
16"

VIF

5"

1:12 SLOPE

1 1
16" 33

4"

1 3
8 "

43 4"

ANGLED STRUCT.
KICKER PER STRUCT.
PLANS BY OTHERS

FLASH & SEAL AROUND
PENETRATIONS

#12-24 HWH WD SCREW
(@ EA. LOW INTO
PLYWD SHEATHING)

#12-24 HWH WD SCREW
(@ 12" O.C.)

22 GA CONT. GALV.
COPING CLEAT AS REQ'D

24 GA CONT. SHEET METAL
COPING CAP FLASHING

#10 PN HD WD
SCREW (@ 12" O.C.)

#10 PN HD WD SCREW
(@ 12" O.C.)22 GA CONT. GALV.

COPING CLEAT

WD. BLOCKING / NAILERS
BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

407

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

VERT. STEEL HSS TRUCT.
POST PER STRUCT. PLANS
BY OTHERS

INTERMEDIATE HORZ. STEEL
HSS STRUCT. BEAMS PER
STRUCT. PLANS BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

VERT. 24 GA.
BERRIDGE 7.2 MECH.
SCREEN WALL
PANELS (MWP-1)

#12-24 HWH WD SCREW
(@ EA. LOW INTO
PLYWD SHEATHING)

1'
-7

" 
T

O
 P

H
 F

LO
O

R
 L

E
V

E
L

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

COUNTERSUNK
SCREW (PER MFR.)

WEEPS AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

12 "

15
8"

3"

90°

135°

24 GA SHEET METAL
BASE FLASHING W/
DRIP HEM

#10 PN HD WD SCREW
(@ 12" O.C.)

4MM ALPOLIC FR CORE
ROUTE & RETURN ALUMINUM

COMPOSITE METAL VERT.
PANELS  (ACM-2)

REF NO:
REF SHT:

MECH. SCREEN WALL BASE DETAIL1
SCALE: FULLNA

-

BOTTOM  HORZ. STEEL HSS
STRUCT. BEAMS PER
STRUCT. PLANS BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

WD. BLOCKING / NAILERS
BY OTHERS

#10 PN HD WD SCREW
(@ 12" O.C.)

FLASH HSS STEEL POSTS
W/ ROOFING PER MFR BY
OTHERS

'J' EXTRUSION
(CONT) CLIP

PREFIN. 24 GA SHEET
METAL CLOSURE

FLASHING TO MATCH
BERRIDGE PANEL

75
8"

3"

DETAILS
SHEET

1'-0" = 1'-0"

408

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

VERT. CORNER HSS STRUCT.
POST PER STRUCT. PLANS
BY OTHERS

HORZ. STEEL HSS STRUCT.
BEAMS PER STRUCT. PLANS
BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

REF NO:
REF SHT:

OUTSIDE / INSIDE CORNER DETAIL @ MECH. SCREEN WALL1
SCALE: FULLNA

-

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN WALL
PANELS (MWP-1)

4MM ALPOLIC FR CORE
ROUTE & RETURN ALUMINUM

COMPOSITE METAL VERT.
PANELS  (ACM-2)

#12-24 HWH WD SCREW
(@ EA. LOW INTO
PLYWD SHEATHING)

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN

WALL BY OTHERS

4MM ALPOLIC FR CORE
ROUTE & RETURN ALUMINUM

COMPOSITE METAL VERT.
PANELS  (ACM-2)

1
2"

4"

4"

1 2"
90

°

24 GA CONT. SHEET METAL
OUTSIDE CORNER FLASHING

1/8" POP RIVET INTO
PNL HIGH (@ 12" O.C.)

HORZ. STEEL HSS STRUCT.
BEAMS PER STRUCT. PLANS

BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN

WALL BY OTHERS

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN WALL

PANELS (MWP-1)

#12-24 HWH WD SCREW
(@ EA. LOW INTO

PLYWD SHEATHING)
1/8" POP RIVET INTO

PNL HIGH (@ 12" O.C.)

DETAILS
SHEET

1'-0" = 1'-0"

409

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

VERT. STEEL HSS STRUCT.
POST PER STRUCT. PLANS

BY OTHERS

HORZ. STEEL HSS STRUCT.
BEAMS PER STRUCT. PLANS

BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN

WALL BY OTHERS

REF NO:
REF SHT:

VERT. PANEL JOINT @ MECH. SCREEN PANEL2
SCALE: FULLNA

-

1/4-14x7/8" HWH DP1
SCREW (PER MFR.)

1" TAPE SEALER
CONTINUOUS

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN
WALL PANELS (MWP-1)

#12-24 HWH WD SCREW (@ EA.
LOW INTO PLYWD SHEATHING)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL VERTICAL PANELS  (ACM-2)

1/4" SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED
ALUM SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

VERT. STEEL HSS STRUCT.
POST PER STRUCT. PLANS
BY OTHERS

HORZ. STEEL HSS STRUCT.
BEAMS PER STRUCT. PLANS
BY OTHERS

PLYWD SHEATHING & WRB
ON EACH SIDE OF SCREEN
WALL BY OTHERS

REF NO:
REF SHT:

END WALL DETAIL @ MECH. SCREEN PANEL1
SCALE: FULLNA

-

VERT. 24 GA. BERRIDGE
7.2 MECH. SCREEN

WALL PANELS (MWP-1)

#12-24 HWH WD SCREW (@ EA.
LOW INTO PLYWD SHEATHING)

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED
ALUM SUPPORT FRAME

COUNTERSUNK
SCREW (PER MFR.)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL VERTICAL PANELS  (ACM-2)

#10 PN HD WD SCREW
(@ 12" O.C.)

24 GA PERIMETER
JAMB FLASHING BY
CA SYSTEMS
BACKER ROD &
SEALANT AS REQ'D

11
2"

13 4"

31
2"

1
2"

VERIFY REQ.
SPACE TO BLDG

BUILDING EXTERIOR WALL,
VERIFY CONDITION, TYP.

PREFIN. 24 GA SHEET
METAL CLOSURE

FLASHING TO MATCH
BERRIDGE PANEL

75
8"

3"

DETAILS
SHEET

1'-0" = 1'-0"

410

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA TO COPING DETAIL @ PH FASCIA1
SCALE: FULL6,7,&8

A4.7

1 2"

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

COPING / GRAVEL STOP
FLASHING W/ SEALANT

BY OTHERS

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ROOFERS SEAL MATERIALS,
WRAP MEMBRANE OVER
PARAPET BY OTHERS

6"

SHEATHING & WRB
BY OTHERS

FRAMING 16" O.C. MAX
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

11 2"

T.O. ROOF

4'
-7

"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

25
8"

VERIFY

2"

DETAILS
SHEET

1'-0" = 1'-0"

411

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA TO SOFFIT BASE DETAIL @ PH FASCIA1
SCALE: FULL6,7,&8

A4.7

WEEP HOLE BAFFLES

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

6"
(4" MIN.)

1
2"

25
8"

VERIFY

2"

FRAMING 16" O.C. MAX
BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

SHEATHING & WRB
BY OTHERS

4'
-7

"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

BACKER ROD & SEALANT

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

SHEATHING, WRB &
FRAMING  BY OTHERS

LINEAR PLANK SOFFIT
PANELS BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

412

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ACM FASCIA OUTSIDE CORNER DETAIL @ BALLROOM OVERHANG1
SCALE: FULLNA

-

1
2"

1 2"

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED
ALUM SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

OUTSIDE CORNER - 4MM ALPOLIC
FR CORE ROUTE & RETURN
ALUMINUM COMPOSITE METAL
PANELS  (ACM-1)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

COLD FORMED METAL
FRAMING  BY OTHERS

SHEATHING, WRB &
FRAMING  BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

413

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

COLD FORMED METAL
FRAMING  BY OTHERS

REF NO:
REF SHT:

ACM SOFFIT PANEL JOINT DETAIL @ PH FASCIA1
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

SHEATHING, WRB &
FRAMING  BY OTHERS

REF NO:
REF SHT:

VERT. ACM FASCIA PANEL JOINT DETAIL @ PH FASCIA2
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D
#12-14 HH SD SCREW

(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

COLD FORMED METAL
FRAMING  BY OTHERS

SHEATHING, WRB &
FRAMING  BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

414

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

BUILDING SYSTEM
(BY OTHERS)

MEMBRANE, GYP. BD., & FRAMING
(BY OTHERS)

CAULK AND
EXPANSION  JOINT

PERIMETER EXTRUDED ALUM
SUPPORT FRAME
COUNTERSUNK SCREW

#12-14 HH SD SCREW
(SPACED PER MFR.)

SHIM AS REQ'D

S
T

E
E

L 
S

T
U

D
REF NO:
REF SHT:

TYP. PANEL ABUTMENT DETAIL1
SCALE: FULLNA

-
5

8"
21 4"

DETAILS
SHEET

1'-0" = 1'-0"

415

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

GRID

REF NO:
REF SHT:

TYP. PANEL ABUTMENT DETAIL1
SCALE: 6" = 1'-0"6

A4.7A

1
418

1
417

END WALL COPING CAP - 4MM
ALPOLIC FR CORE ROUTE & RETURN
ALUMINUM COMPOSITE MATERIAL
COPING (ACM-1)

2'-71
2" COPING

VIF

COPING CAP PANEL ABOVE - 4MM
ALPOLIC FR CORE ROUTE & RETURN
ALUMINUM COMPOSITE MATERIAL
COPING (ACM-1)

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANEL (ACM-1) ON BACKSIDE
OF PARAPET

LOWER COPING CAP FLASHING AND
SADDLE FLASHING BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

416

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

TYP. PANEL ABUTMENT DETAIL1
SCALE: 6" = 1'-0"6

A4.7A

GRID

SHIM AS REQ'D

#12-14 HH SD SCREW (SPACED PER MFR.)

COUNTERSUNK SCREW (PER MFR.)

PERIMETER EXTRUDED ALUM SUPPORT FRAME

2'-71
2"

VIF

PERIMETER EXTRUDED ALUM SUPPORT FRAME

COUNTERSUNK SCREW (PER MFR.)

WEEPS AS REQ'D

#12-14 HH SD SCREW (SPACED PER MFR.)

4MM ALPOLIC FR CORE ROUTE & RETURN ALUMINUM
COMPOSITE METAL VERT. PANELS  (ACM-1)

'J' EXTRUSION (CONT) CLIP

9"

2"

3"

24 GA SHEET METAL BASE
FLASHING W/ DRIP HEM

#10 PN HD WD SCREW (@ 12" O.C.)

1 2"
4"

2x WD BLOCKING NAILERS,
FRAMING
BY OTHERS

SLOPE AS REQ'D

6"

SHIM AS REQ'D

#12-14 HH SD SCREW (SPACED PER MFR.)

COUNTERSUNK SCREW (PER MFR.)

PERIMETER EXTRUDED ALUM SUPPORT FRAME

COPING CAP PANEL - 4MM
ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
MATERIAL COPING (ACM-1)

BACKER ROD & SEALANT AS REQ'D

EXTERIOR EIFS WALL SYSTEM
BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

417

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

GRID

REF NO:
REF SHT:

TYP. PANEL ABUTMENT DETAIL1
SCALE: 6" = 1'-0"6

A4.7A

4MM ALPOLIC FR CORE
ROUTE & RETURN ALUMINUM
COMPOSITE METAL VERT.
PANELS  (ACM-1)

9"

6"

4"

2'-71
2" COPING

VIF

1 2" 1 2"

RETURN ALPOLIC FR PANEL
AT END AND SEAL JOINT AS
REQ'D

COPING CAP PANEL - 4MM
ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM
COMPOSITE MATERIAL
COPING (ACM-1)

BACKER ROD & SEALANT

END WALL COPING CAP - 4MM
ALPOLIC FR CORE ROUTE & RETURN

ALUMINUM COMPOSITE MATERIAL
COPING (ACM-1)

DETAILS
SHEET

1'-0" = 1'-0"

418

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

4"
 M

IN
.

1 2"

25
8"

VERIFY

2"

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

SHEATHING, WRB &
FRAMING  BY OTHERS

COPING CAP PANEL - 4MM
ALPOLIC FR CORE ROUTE &

RETURN ALUMINUM COMPOSITE
MATERIAL COPING (ACM-1)

TPO ROOFING &
ASSEMBLY BY OTHERS

SLOPE

REF NO:
REF SHT:

ENTRY CANOPY ACM COPING DETAIL1
SCALE: FULLNA

-

4"

FLASHING BY OTHERS

#12-14 HWH SD SCREW
(SPACED PER MFR.)

CONT. BED OF SEALANT
AS REQ'D

2"
. WD BLOCKING/ NAILER &

SUBFRAMING BY OTHERS

1'-9" OVERALL VIF

1'
-6

"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

DETAILS
SHEET

1'-0" = 1'-0"

419

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

REF NO:
REF SHT:

ENTRY CANOPY ACM FASCIA TO SOFFIT BASE DETAIL1
SCALE: FULLNA

-

WEEP HOLE BAFFLES

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

4" MIN. 1
2"

25
8"

VERIFY

2"

FRAMING 16" O.C. MAX
BY OTHERS

4MM ALPOLIC FR CORE
ROUTE & RETURN

ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

SHEATHING & WRB
BY OTHERS

1'
-6

"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

BACKER ROD & SEALANT

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

SHEATHING, WRB &
FRAMING  BY OTHERS

LINEAR PLANK SOFFIT
PANELS BY OTHERS

4"
 M

IN
.

1 2"

25
8"

V
E

R
IF

Y

2"

PANEL, SEE ELEVATION

REF NO:
REF SHT:

ENTRY CANOPY ACM FASCIA OUTSIDE CORNER DETAIL2
SCALE: FULLNA

-

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE
METAL PANELS  (ACM-1)

1/4" SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

ALPOLIC ALUM. COMPOSITE
MATERIAL JOINT SPLINE

COUNTERSUNK
SCREW (PER MFR.)

SHEATHING, WRB &
FRAMING  BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

420

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

80'-5 1/2" 

1 2"

SHIM AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

COUNTERSUNK
SCREW (PER MFR.)

CURTAINWALL WINDOW SILL
FLASHING W/ SEALANT

BY OTHERS

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

INSULATION & WRB
BY OTHERS

SHEATHING AND CONC.
CURB BY OTHERS

4MM ALPOLIC FR CORE ROUTE &
RETURN ALUMINUM COMPOSITE

METAL PANELS  (ACM-1)

1'
-9

 1
/2

"
P

A
N

E
L 

H
E

IG
H

T
, V

IF

4"
VERIFY

2"

BACKER ROD & SEALANT
BY OTHERS

CURTAINWALL WINDOW SYSTEM
BY OTHERS

REF NO:
REF SHT:

ACM PANEL TO CW SILL DETAIL @ BALCONY1
SCALE: FULL7

A4.7

DETAILS
SHEET

1'-0" = 1'-0"

421

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S



NOTE:
"GRAYED OUT" TEXT
INDICATES WORK BY
OTHERS, NOT UNDER
OUR SCOPE, TYP.

78'-7"
8TH FLOOR LOUNGE

78'-10 1/2" 
TOP OF TYP. CURB

REF NO:
REF SHT:

ACM PANEL TO PLAZA PAVER BASE DETAIL @ BALCONY1
SCALE: FULL7

A4.7

PERIMETER EXTRUDED ALUM
SUPPORT FRAME

COUNTERSUNK
SCREW (PER MFR.)

WEEPS AS REQ'D

#12-14 HH SD SCREW
(SPACED PER MFR.)

4MM ALPOLIC FR CORE
ROUTE & RETURN ALUMINUM

COMPOSITE METAL VERT.
PANELS  (ACM-2)

#10 PN HD WD SCREW
(@ 12" O.C.)

'J' EXTRUSION
(CONT) CLIP

1
2

"

37
8"

3"

91
°

136°

INSULATION & WRB
BY OTHERS

SHEATHING AND CONC.
CURB BY OTHERS

24 GA SHEET METAL
BASE FLASHING W/

DRIP HEM
BALCONY PEDESTALS &

PAVERS BY OTHERS

DETAILS
SHEET

1'-0" = 1'-0"

422

DRAWN BY:

DATE

SUBMITTAL

DATE

N
O

.
D

A
T

E
B

Y
D

E
S

C
R

IP
T

IO
N

 O
F

 R
E

V
IS

IO
N

S

SCALE

SHEET NO.

C
O

N
T

R
A

C
T

O
R

A
R

C
H

IT
E

C
T

P
R

O
JE

C
T

 N
A

M
E

DESCRIPTION

S
K

Y
LI

N
E

 G
LA

Z
IN

G
 S

O
LU

T
IO

N
S

 L
LC

.
(5

20
) 

25
4-

01
07

 (
of

fic
e)

in
fo

@
sg

sl
lc

.c
om

w
w

w
.s

gs
llc

.c
om

1
09

/0
6/

20
23

M
L

P
R

E
LI

M
IN

A
R

Y
 S

H
O

P
 D

R
A

W
IN

G
S

P
A

LM
E

T
T

O
 M

A
R

R
IO

T
T

S
A

N
D

V
IC

K
 A

R
C

H
IT

E
C

T
S

-

RESUBMITTAL

09/22/2023

ML

2
09

/2
2/

20
23

M
L

R
E

V
IS

E
D

 S
H

O
P

 D
R

A
W

IN
G

S


	Sheets and Views
	00 - COVER-001
	01 - ASSEMBLIES-101
	01 - ASSEMBLIES-102
	01 - ASSEMBLIES-103
	02- PLANS-201
	02- PLANS-202
	02- PLANS-203
	02- PLANS-204
	02- PLANS-205
	02- PLANS-301
	02- PLANS-302
	02- PLANS-303
	02- PLANS-304
	02- PLANS-305
	02- PLANS-306
	04 - DETAILS-401
	04 - DETAILS-402
	04 - DETAILS-403
	04 - DETAILS-404
	04 - DETAILS-405
	04 - DETAILS-406
	04 - DETAILS-407
	04 - DETAILS-408
	04 - DETAILS-409
	04 - DETAILS-410
	04 - DETAILS-411
	04 - DETAILS-412
	04 - DETAILS-413
	04 - DETAILS-414
	04 - DETAILS-415
	04 - DETAILS-416
	04 - DETAILS-417
	04 - DETAILS-418
	04 - DETAILS-419
	04 - DETAILS-420
	04 - DETAILS-421
	04 - DETAILS-422


